
Chapter: -Continuity and Differentiability

1 marks question
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Q2.Discuss the differentiability of f(x) =|x| x . Ans. Not differentiable at x=0.

Q3. Discuss the differentiability of f(x) =[x] , where [x] is greatest integer function ,at x=2 and 5/2.

Ans. Not differentiable at x=2 and differentiable at x=5/2.

4/6 marks question

Q4.If 

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Q7. Check the continuity of 
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Q8. Find
dx

dy
of following functions :-(i) 
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Q11.Verify Roll’s Theorem if (i) f(x) =cos2x in 0≤x≤2π, (ii) f(x) =(x-a)3(x-b)4 in (a,b)

Ans. (i) c=π/2, (ii) c= (4a+3b)/7.

Q12. Verify LMV Theorem if 225)( xxf  in [-3, 4] Ans.
2

1c

--------------------------------------Best of Luck---------------------------------------------------------------
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